

IDHAYA COLLEGE FOR WOMEN, KUMBAKONAM

DEPARTMENT OF MATHEMATICS



CLASS : I B.Sc., PHYSICS
SUBJECT NAME : **ALGEBRA, ANALYTICAL
GEOMETRY (3D) AND TRIGONOMETRY**
SUBJECT CODE : 16SACMM2
SEMESTER : II
UNIT : V
FACULTY NAME : Mrs. RUBEELA MARY

UNIT V

HYPERBOLIC FUNCTION RELATION BETWEEN HYPERBOLIC FUNCTION- INVERSE HYPERBOLIC FUNCTION- SEPARATE INTO REAL AND IMAGINARY

PART A

1. Write the formula for Euler's exponential values $\sin \theta$ and $\cos \theta$

$$\sin \theta = \frac{e^{i\theta} - e^{-i\theta}}{2} \text{ and } \cos \theta = \frac{e^{i\theta} + e^{-i\theta}}{2}, \tan \theta = \frac{e^{i\theta} - e^{-i\theta}}{e^{i\theta} + e^{-i\theta}}$$

2. Hyperbolic function

The hyperbolic function of a real number x are defined as

$$\sinh \theta = \frac{e^{\theta} - e^{-\theta}}{2} \text{ and } \cosh \theta = \frac{e^{\theta} + e^{-\theta}}{2}, \tan h \theta = \frac{e^{\theta} - e^{-\theta}}{e^{\theta} + e^{-\theta}}$$

3. Prove that $\cosh^2 x - \sinh^2 x = 1$

Proof:

We know that $\cos^2 x + \sin^2 x = 1$ \longrightarrow (1)

Put $x=ix$ in this equation, we get

$$\cos^2(ix) + \sin^2(ix) = 1$$

Since $\sin(ix) = i\sin(hx)$ and $\cos(ix) = \cos(hx)$

$$\cosh^2(x) + i^2 \sinh^2(x) = 1$$

$$\cosh^2(x) - \sinh^2(x) = 1$$

Hence proved.

4. Prove that $\sinh 2x = 2 \sinh x \cosh x$

Proof:

We know that $\sin 2\theta = 2 \sin \theta \cos \theta$

Put $\theta = ix$, $\sin 2(ix) = 2 \sin(ix) \cos(ix)$

$$i \sin 2(hx) = i 2 \sin(hx) \cos(hx)$$

$$\sin 2(hx) = 2 \sin(hx) \cos(hx)$$

Hence proved.

5. Prove that $\tanh(x+iy) = \frac{\tanh x + \tanh y}{1 + \tanh x \tanh y}$

Proof:

We know that: $\tan(A+B) = \frac{\tan A + \tan B}{1 + \tan A \tan B}$

Put $A = ix$, $B = iy$

$$i \tanh(x+iy) = \frac{\tan(ix) + \tan(iy)}{1 + \tan(ix) \tan(iy)}$$

$$i \tanh(x+iy) = \frac{i(\tan(hx) + \tan hy)}{1 - i^2 \tan(hx) + \tan(hy)}$$

$$\tanh(x+iy) = \frac{(\tan(hx) + \tan hy)}{1 + \tan(hx) + \tan(hy)}$$

Hence proved.

6. Separate into real and imaginary parts of $\sin(x+iy)$

Solution:

$$\sin(x+iy) = \sin x \cosh y + \cos x \sinh y$$

$$\sin(x+iy) = \sin x \cosh y + i \cos x \sinh x$$

Real part: $\sin x \cosh y$, Imaginary = $\cos x \sinh x$

PART B

1. Separate into real and imaginary parts of $\tanh(x+iy)$

Solution:

Since $\tan(ix) = i \tanh x$, $\tanh x = -ix$

$$\tan(x+iy) = -i \tanh(ix-y)$$

$$= -\frac{\sin(ix-y)}{\cos(ix-y)}$$

$$= -i \frac{2 \sin(ix-y) \cos(ix-y)}{2 \cos(ix-y) \cos(ix-y)}$$

$$i \tanh(x+iy) = -i \frac{-i \sin 2y + i \sinh 2x}{\cos 2y + \cosh 2x}$$

$$\tanh(x+iy) = \frac{\sinh 2x}{\cos 2y + \cosh 2x} + i \frac{i \sin 2y}{\cos 2y + \cosh 2x}$$

$$\text{Real part} = \frac{\sinh 2x}{\cos 2y + \cosh 2x}$$

$$\text{Imaginary Part} = \frac{i \sin 2y}{\cos 2y + \cosh 2x}$$

2. If $\sin(\theta + i\phi) = \tan(x + iy)$ show that $\frac{\tan \theta}{\tanh \phi} = \frac{\sin 2x}{\sinh 2y}$

Solution:

$$\sin(\theta + i\phi) = \sin \theta \cos i\phi + \cos \theta \sin i\phi$$

$$\sin(\theta + i\phi) = \sin \theta \cosh \phi + i \cos \theta \sinh \phi \longrightarrow \textcircled{1}$$

$$\begin{aligned} \tan(x+iy) &= \frac{\sin(x+iy)}{\cos(x+iy)} \\ &= \frac{2 \sin(x+iy) \cos(x-iy)}{2 \cos(x+iy) \cos(x-iy)} \\ &= \frac{\sin 2x + i \sin 2y}{\cos 2x + \cosh 2y} \end{aligned}$$

$$\tan(x+iy) = \frac{\sin 2x + i \sin 2y}{\cos 2x + \cosh 2y} \longrightarrow \textcircled{2}$$

From (1) and (2) equating real and imaginary parts

$$\sin \theta \cosh \phi = \frac{\sin 2x}{\cos 2x + \cosh 2y} \longrightarrow \textcircled{3}$$

$$\cos \theta \sinh \phi = \frac{\sin 2y}{\cos 2x + \cosh 2y} \longrightarrow \textcircled{4}$$

(3)/(4) gives

$$\tan \theta \coth \phi = \frac{\sin 2x}{\sinh 2y}$$

$$\frac{\tan\theta}{\tanh\varphi} = \frac{\sin 2x}{\sinh 2y}$$

3.If $\sin(A+iB)=x+iy$ prove that

$$\text{i)} \frac{x^2}{\sin^2 A} - \frac{y^2}{\cos^2 A} = 1$$

$$\text{ii)} \frac{x^2}{\cosh^2 A} + \frac{y^2}{\sinh^2 A} = 1$$

Solution:

$$x+iy = \sin(A+iB)$$

$$= \sin A \cos iB + \cos A \sin iB$$

$$x+iy = \sin A \cosh B + i \cos A \sinh B$$

Equating real and imaginary parts

$$x = \sin A \cosh B, \quad y = \cos A \sinh B$$

$$\frac{x}{\sin A} = \cosh B, \quad \frac{y}{\cos A} = \sinh B$$

$$\text{Squaring and subtracting } \frac{x}{\sin^2 A} + \frac{y}{\cos^2 A} = \cosh^2 B + \sinh^2 B$$

$$\text{Again } \frac{x}{\cosh B} = \sin A, \quad \frac{y}{\sinh B} = \cos A$$

$$\text{Squaring and adding } \frac{x}{\cosh^2 B} + \frac{y}{\sinh^2 B} = \sin^2 A + \cos^2 A$$

4.If $\sin(\theta + i\varphi) = \tan\alpha + i\sec\alpha$ prove that $\cos 2\theta \cosh 2\varphi = 3$

Solution:

$$\text{Given } \sin(\theta + i\varphi) = \tan\alpha + i\sec\alpha$$

$$\sin \theta \cos i\varphi + \cos \theta \sin i\varphi = \tan\alpha + i\sec\alpha$$

$$\sin \theta \cosh \varphi + i \cos \theta \sinh \varphi = \tan\alpha + i\sec\alpha$$

Equating real and imaginary parts

$$\sin \theta \cosh \varphi = \tan\alpha \quad \longrightarrow \quad \textcircled{1}$$

$$\cos \theta \sinh \varphi = \sec\alpha \quad \longrightarrow \quad \textcircled{2}$$

Squaring and Subtracting

$$\sin^2\theta \cosh^2\varphi - \cos^2\theta \sinh^2\varphi = \tan^2\alpha - \sec^2\alpha$$

$$\left(\frac{1+\cos 2\theta}{2}\right) \sinh^2\varphi - \left(\frac{1-\cos 2\theta}{2}\right) \cosh^2\varphi = 1$$

$$(\sinh^2\varphi - \cosh^2\varphi) + \cos 2\theta(\cosh^2\varphi + \sinh^2\varphi) = 2$$

$$\cos 2\theta \cosh 2\varphi = 3$$

5. Separate into real and imaginary parts of $\sinh(x+iy)$

Solution:

We know $\sin ix = i \sinh x$

$$\sinh x = -i \sin ix$$

$$\sinh(x+iy) = -i \sin(x+iy)$$

$$= -i \sin(ix-y)$$

$$= -i[\sin(ix) \cos y - \cos(ix) \sin y]$$

$$= -i[i \sin(hx) \cos y - \cos(x) \sin y]$$

$$\sinh(x+iy) = \sinh x \cos y + i \cosh x \sin y$$

Real Part = $\sinh x \cos y$

Imaginary Part = $\cosh x \sin y$

PART C

If $\sinh x = y$, then $x = \sinh^{-1}y$. Then symbol \sinh^{-1} is called the inverse hyperbolic function.

Similarly \cosh^{-1} , \tanh^{-1} denote the inverse hyperbolic cosine and inverse hyperbolic tangent function.

1. Show that $\sinh^{-1}x = \log_e(x + \sqrt{x^2 + 1})$

Solution:

$$\text{Let } y = \sinh^{-1}x \quad , \quad x = \sinh y = \frac{e^y - e^{-y}}{2}$$

$$x = \frac{e^y - e^{-y}}{2}$$

$$2x = e^y - e^{-y}$$

$$2x = e^y - \frac{1}{e^y}$$

$$e^{2y} - 2xe^y - 1 = 0$$

$$\text{Solving for } e^y \rightarrow e^y = \frac{2x \pm \sqrt{4x^2 + 4}}{2}$$

$$\rightarrow e^y = x \pm \sqrt{x^2 + 1}$$

Since $e^y > 0$ always, the value $x - \sqrt{x^2 + 1}$ is not possible.

$$e^y = x + \sqrt{x^2 + 1}, \quad y = \log_e(x + \sqrt{x^2 + 1}),$$

$$y = \sinh^{-1}x = \log_e(x + \sqrt{x^2 + 1})$$

2. Show that $\cosh^{-1}x = \log_e(x + \sqrt{x^2 - 1})$

Solution:

$$\text{Let } y = \cosh^{-1}x, \quad x = \cosh y = \frac{e^y + e^{-y}}{2}$$

$$x = \frac{e^y + e^{-y}}{2}$$

$$2x = e^y + e^{-y}$$

$$2x = e^y + \frac{1}{e^y}$$

$$e^{2y} - 2xe^y + 1 = 0$$

$$\text{Solving for } e^y \rightarrow e^y = \frac{2x \pm \sqrt{4x^2 - 4}}{2}$$

$$\rightarrow e^y = x \pm \sqrt{x^2 - 1}$$

Since $e^y > 0$ always, the value $x - \sqrt{x^2 - 1}$ is not possible.

$$e^y = x + \sqrt{x^2 - 1}, \quad y = \log_e(x + \sqrt{x^2 - 1}), \quad y = \cosh^{-1}x = \log_e(x + \sqrt{x^2 - 1})$$

3. Show that $\tanh^{-1}x = \frac{1}{2} \log_e \left(\frac{1+x}{1-x} \right)$

Solution:

$$\text{Let } y = \tanh^{-1}x$$

$$x = \tanh y = \frac{e^y - e^{-y}}{e^y + e^{-y}}$$

$$= \frac{e^{2y} - 1}{e^{2y} + 1}$$

$$x(e^{2y} + 1) = e^{2y} - 1$$

$$x = \frac{e^{2y} - 1}{(e^{2y} + 1)}$$

$$2y = \log_e \left(\frac{1+x}{1-x} \right)$$

$$y = \frac{1}{2} \log_e \left(\frac{1+x}{1-x} \right)$$

$$y = \tanh^{-1}x = \frac{1}{2} \log_e \left(\frac{1+x}{1-x} \right)$$

4. If $\tanh\left(\frac{x}{2}\right) = \tan\left(\frac{\theta}{2}\right)$. Show that $x = \log \tan\left(\frac{\pi}{4} + \frac{\theta}{2}\right)$

Solution:

$$\text{Given } \tanh\left(\frac{x}{2}\right) = \tan\left(\frac{\theta}{2}\right)$$

$$\left(\frac{x}{2}\right) = \tanh^{-1} \left(\tan\left(\frac{\theta}{2}\right) \right)$$

$$\left(\frac{x}{2}\right) = \frac{1}{2} \log \left(\frac{1 + \tan\left(\frac{\theta}{2}\right)}{1 - \tan\left(\frac{\theta}{2}\right)} \right)$$

$$x = \log \frac{\tan\frac{\pi}{4} + \tan\left(\frac{\theta}{2}\right)}{1 - \tan\frac{\pi}{4} + \tan\left(\frac{\theta}{2}\right)}$$

$$x = \log \tan\left(\frac{\pi}{4} + \frac{\theta}{2}\right)$$

$$\boxed{x = \log \tan\left(\frac{\pi}{4} + \frac{\theta}{2}\right)}$$

5. Separate into real and imaginary parts $\tan^{-1}(x+iy)$

Solution:

$$\text{Let } \tan^{-1}(x+iy) = A+iB$$

$$(x+iy) = \tan(A+iB)$$

$$(x-iy) = \tan(A-iB)$$

$$2A = A+iB + A-iB$$

$$\tan 2A = \tan(A+iB + A-iB)$$

$$= \frac{\tan(A+iB) + \tan(A-iB)}{1 - \tan(A+iB) \cdot \tan(A-iB)}$$

$$= \frac{x+iy + x-iy}{1 - (x+iy)(x-iy)}$$

$$\tan 2A = \frac{2x}{1-x^2-y^2}$$

$$2A = \tan^{-1}\left(\frac{2x}{1-x^2-y^2}\right) \quad \text{or } A = \frac{1}{2} \tan^{-1}\left(\frac{2x}{1-x^2-y^2}\right)$$

$$\text{Further } 2iB = (A+iB) - (A-iB)$$

$$\tan 2iB = \tan [(A+iB) - (A-iB)]$$

$$= \frac{\tan(A+iB) - \tan(A-iB)}{1 + \tan(A+iB) \cdot \tan(A-iB)}$$

$$= \frac{(x+iy) - (x-iy)}{1 + (x+iy)(x-iy)}$$

$$i \tanh 2B = \frac{2iy}{1+x^2+y^2}$$

$$\tanh 2B = \frac{2y}{1+x^2+y^2}$$

$$2B = \tan^{-1}\left(\frac{2y}{1+x^2+y^2}\right) \quad \text{or } B = \frac{1}{2} \tan^{-1}\left(\frac{2y}{1+x^2+y^2}\right)$$

$$\text{Real Part} = A = \frac{1}{2} \tan^{-1}\left(\frac{2x}{1-x^2-y^2}\right)$$

$$\text{Imaginary Part} = B = \frac{1}{2} \tan^{-1} \left(\frac{2y}{1+x^2+y^2} \right)$$

6. Show that $\cosh^5 \theta = \frac{1}{16} [\cosh 5\theta + 5\cosh 3\theta + 10\cosh \theta]$

Solution:

$$\begin{aligned} \cosh^5 \theta &= \left(\frac{e^\theta + e^{-\theta}}{2} \right)^5 \\ &= \frac{1}{2^5} [e^{5\theta} + 5c_1 e^{4\theta} e^{-\theta} + 5c_2 e^{3\theta} e^{-2\theta} + 5c_3 e^{2\theta} e^{-3\theta} + 5c_4 e^\theta e^{-4\theta} + e^{-5\theta}] \\ &= \frac{1}{2^5} [(e^{5\theta} + e^{-5\theta}) + 5(e^{3\theta} + e^{-3\theta}) + 10(e^\theta + e^{-\theta})] \\ &= \frac{1}{16} [\cosh 5\theta + 5\cosh 3\theta + 10\cosh \theta] \end{aligned}$$

$$\cosh^5 \theta = \frac{1}{16} [\cosh 5\theta + 5\cosh 3\theta + 10\cosh \theta]$$